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Question %mpuﬁmy.

2) Answer any estions from each of the remaining sections.

in the blanks - O
. A link which does not under
is the example for i
. For friction liner in brakes

| For uniform velicity of follower

Sxl=
deformation is called

s of double slider crank chain.

&

‘Cam & follower is the example for
lin stepped cone pulley with a neat sketch.

b SECTION -1 GJ

I . the types of constrained motions with sketch. A .
re the difference between machine & structure ? " /‘ |

ersion ? Explain scotch yoke mechanism. '
10 mm x 260 mm is used to drive C. 1. pulley 600 in dia at

The arc of contact is 120° & stress in tight side is 1.9 N/mm?®. Find
? of the belt. The density of the leather may be taken as

p,. the co-efficient of friction of leather is 0.3. |
1tage of chain drive over belt drive ? :

ind creep in belt drive. .
nismits 1000 kW from a pulley of effective diameter 5 mis. runs

rom. The angle of lap is 160°. The angle of groove is 45°. The
',ﬂh:ﬁmhljmdhaﬂ_r

,1'_
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~ Explain simple and compound gear train,
. Explain Balancing of rotating masses in a .
4 E_linmcs M. M,, M3, M, & M; revol ¢ same plane at equal rad
mass M, M,, M, are 2000 N, 1000 N & 16@ respectively. The ang
. petween successive masses from MI are 60°, 75°, ‘?W"', Find the mass
‘M, & M, for complete balance. ~ /s

Name the classification of cams & follower. O _
" (b) A cam with 30 mm as minimum radius is rotating clockwise at €uniform sp
. of 1200 rpm and has to give the motion to the knife edge follower as below.
(i) Follower to move outward through 30 mm during 120° of cam rotd
. withSHM.

B e o ion during the next 90° with UARM

) to return to its intial positio .
N e ining period. mwthgmproﬁlcmm follower a

i .i.f.:' the ﬁﬂ]l bj’ 10 mm.
(Any three).
& “
vibrations :

]



